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() 1L 1dL+ 1L 3dL =
- 1dL - 1dL 1dL  1dL

(2) 4L 2dL+ 2L =

(3) 1L 6dL + 1dL =

(4) 7L+ 2L 5dL =

(5) 5L 1dL+ 3L 7dL =

(6) 1L 4dL + 3L 4dL =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
(http://mameppu.com/)
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() 2L1dL— 1L 1dL =
1L 1L

(2) 5L 7dL — 2L 2dL =

1dL

(3) 8L 5dL — 4dL =

(4) 3L 3dL — 1L 1dL =

(5) 9L 6dL — 6L =

(6) 4L 9dL — 4L 3dL =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
(http://mameppu.com/)
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(1) 3dL 1mL+ 2dL 1mL =

fdL 1dL 1dL gy 1dL o 1dL gL

(2) 7dL 3mL — 5dL 2mL =

(3) 5dL 5mL + 4dL 1mL =

(4) 9dL 8mL — 5mL =

(5) 6dL 2mL — 1dL =

(6) 2mL + 3dL 7mL =

FDIDT —T 70 Esr MNTERS Y O—RTEET, F—IDTREM. BEEAIERLTT.
(http://mameppu.com/)



